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500,000& =* 63l 3,000
O 0PIl F2ud 249
1,000,000& * 501 & 5,000
O Of! gtet AEF2IS HIOIE
500,000& = 102 5,000
O HEY g4 o=z 29
6,000,000& = 1= 6,000
O Mol gLiet o4&l 625,000 * 8 & 5,000
O Ed sH =2 5,000,000& * 13| 5,000
O JIEW &MHole ASYs 832 nd
375,000& * 83 3,000
206 M &Hl 5,800 5,800 0
01 MHZHI 5,800 5,800 0
O OXg 47| ¢ 2,000,000& * 24 4,000
O TZHE &HE 900,000& = 2JH 1,800
207 A FoHed| 2,000 0 2,000
02 & AIHEH] 2,000 0 2,000
O EHOIX 8& |-Pin = 2,000,000*14] 2,000
A2t 2H T2 == 25,000 0 25,000
401 AIEHIZ 20| 25,000 0 25,000
01 Al&HI 25,000 0 25,000
O 3 LHAAA A 25,000,000* 14! 25,000
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B e 3,736,396 3,188,850 547,546
z 1,500,000
o] 660,000
2 1,576,396
HEZ 29 76,296 69,470 6,826
101 @121t 20,496 18,270 2,226
VIBTEDEESETEPS 20,496 18,270 2,026
O 22338 22 22 14,496
- =23 33,9808 * 2602 8,835
- 8012 8,834,802 * 1%  4/12% 2,945
— HER 49 33,9808 * 252 850
— A2tS 25 3,946% * 1 « 25AI2 9
zgag 33,9809 * 522 1,767
O BERN oY 40,0002 * 1502 6,000
201 Lpr2 | 47,800 46,200 1,600
01 At 2,400 1,800 600
O dETE 29 222
200,0002 * 122 2,400
2 232 Y| 45,400 44,400 1,000
O ®II23 3,500,0002 + 122 42,000
O ®IloEBal U8 442
200,0002 * 122 2,400
O ezt 1,000,008 * 11 1,000
206 M2 bl 2,000 2,000 0
NRIE 2,000 2,000 0
O HMEMTY 500,000 * 1 500
O H27Y 500,0002! * 1 500
O Az7Y 1,000,008 * 114 1,000
401 AIEHIL2CH] 6.000 3,000 3,000
01 Al 6.000 3,000 3,000
O 4HTH AlE=2H 6,000,008 * 14 6.000
LT 2N 200,000 100,000 100,000
N INEEEE YT 200,000 100,000 100,000
01 Al 200,000 100,000 100,000
O RUEXT BN EXHSY
200,000,0002 * 14 200,000
e 39,300 63,380 24,080
201 Ypr2g| 9,300 13,380 4,080
01 At 22l 3,500 4,980 A1,480
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2,000,002 * 1Al 2,000
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O ZZX =Y Hatx B4 Y B8E72Y
1,000,008 * 14! 1,000
O ZZX IZsFA I3
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401 AEHIL S0 30,000 50,000 20,000
01 Al&H 30,000 50,000 20,000
O BBAUANLES |X 244
30,000,008 * 14! 30,000
ABTE JIBAIA 112,000 212,000 A100,000
201 Yer2g| 12,000 12,000 0
02 222l 12,000 12,000 0
O ZYAIE SX 26l 1,000,008 * 128 12,000
401 AEBIL S0 100,000 200,000 100,000
03 Al& = CH| 900 0 900
O 220 A2 23X 20HHl
100,000,0002! * 0.9/100 900
04 BALRIRIAIEH] 99, 100 200,000 A100,900
O 220 A2 & 99, 100,000 99, 100
HUZ QAT BBANL(ZS) 1,000,000 1,000,000 0
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401 AEHIL 20 1,000,000 1,000,000 0
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2 400,000
01 Al&| 993,700 1,000,000 A6,300
O SHT BBX FHAL
993,700,0002 * 14! 993,700
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O A&ZH Xl 2,000,0008 * 14! 2,000
MRIRITHOHIIRE S EEAL (BS) 300,000 651,000 A351,000
=l 300,000
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SN 232D
HE: BRAY AEIL
el B A (el &2
_ _ pSNE e
SM-EH . C(BH) - HRAY - B2 Ao Gl o HRs2
| 200,000
= 200,000
01 BIZtGEEX 400,000 0 400,000
O 2ZANEl BSUEAY
400,000,000& * 14 400,000
| 200,000
2 200,000
& &I ZEAMY 1,000,000 650,000 350,000
& 600,000
= 400,000
401 AIZBIL 2] 1,000,000 650,000 350,000
3 600,000
= 400,000
01 Al&H| 993,700 645,905 347,795
O =& dAe 993,700,000& * 14 993,700
= 596,220
2 397,480
03 AIE=20bl 6,300 4,095 2,205
O AT HA ALY
1,000,000,000& * 0.63% 6,300
= 3,780
= 2,520
M U 2Y 10,800 0 10,800
201 LBt Y| 10,800 0 10,800
01 AtS22/H] 2,400 0 2,400
O R0 HYY 28 28 2|
200,000& = 122 2,400
02 =234l 8,400 0 8,400
(ORFSPIETE=, 500,000& = 12& 6,000
O ®olormzel U a4
200,000& = 12& 2,400
Hsds 2,090,482 8,163,556 26,073,074
| 69,406
= 2,021,076
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— ASALSHR BEHH R
54,000& » 5H = 100 27,000
— ASALSH FH42 WE ALY
54,0002 * 5% * 52 * 23] 2,700




A Sot2t2
By HgNE
el Mg (B9l & 2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
201 LetEdH| 105,624 163,000 AbB7,376
01 AtE22/Hl 9,644 11,000 A 1,356
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O s WxIl ¢ 7L 50,000& * 104 500
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O &JIe=a 40,000,000& 40,000
O &dIItEHA =2 800,000& «12& 9,600
O &I |RXeltiay| 150,000& «12& 1,800
O 4xER3a 5,000,000& 5,000
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TOPE 22 10,000 27,000 A 17,000
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401 AIEHIL 2 CH] 28,000 18,000 10,000
01 Al 28,000 18,000 10,000
O SUMSAIL =El 1,000,008 * 84 8,000
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50,000, 0002 50,000
O SXIAD MEHSOE 212
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O 53 HE24H BILIATHSE
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O H183 WEFI L K193 HFI WS
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O MS3 2 MEHSEAS 2
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O 2011=YE SHH 22l NS
5,000,008 * 13| 5,000
O H3sl HE24H =703
10,000,0008 * 18l 10,000
O H73 FRALEXAI MEHSER03
5,000,0002 * 13] 5,000
O M37al =& U ABISHH =703
15,000,0002 * 13| 15,000
O Toel @2RD 25 ASUs 81
100,000,0002 100,000
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I 17,086
= 7,323
02 PABAEE 24,409 8,064 16,345
O HSHISH AAIR 24,409,000 * 14! 24,409
I 17,086
2 7,323
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- 20 60,0002 * 32 * 2602 46,800
— &0i3 15,600,002 * 3% * 4/12 15,600
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20,000,000 * 14! 20,000
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101 o124l 33,880 33,880 0
01 24 33,880 33,880 0
O SYURM(201812) AR AI2e 224+ 18,443
— 63AY  8,3128 + 1Y A2 + 1682 4,190
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O SHYURM(201813) HaK 52224 15,437
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- s34g 50,3372 * 2% * 562 5,638
ol 2oyl /H SIS Bt 34,367 28,418 5,949
101 24| 34,367 28,418 5,949
01 B4 8,795 18,795 0
O SYURM(H2DSR) A Al2te 224
o 10,231
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AN 2322
A #H2AAH(Sa22 1)
el JlE&3sl (98
S FB SR (E) - NRAY - Be S 0} & o Soe RS2
Jl2Zdl/28t0= 36,700 30,000 6,700
201 LEH2HH| 25,000 22,500 2,500
01 At 2t2ibl 21,000 20,000 1,000
O get+=Ed| 21,000,000& 21,000
02 2323l 4,000 2,500 1,500
O 2etdst 3 4,000,000& 4,000
202 O4dl 7,000 7,000 0
01 WY 7,000 7,000 0
O 23tz 28 bl 7,000, 000& 7,000
203 LR =& 4,200 0 4,200
04 RA2SERFAH| 4,200 0 4,200
O BA2EERF4| 350,000 «12& 4,200
405 AHoHESHI 500 500 0
01 MHMH=SFSHI 500 500 0
O JIEt SsAet FHSHI 500,000 * 14 500
JI2ZH/Hs8AY 10,000 10,000 0
201 et 3,000 4,000 A 1,000
01 AtR2teld] 3,000 4,000 A 1,000
O =&l 3,000,000& 3,000
202 O 7,000 6,000 1,000
01 =W 7,000 6,000 1,000
O g2F& ol 7,000,000& 7,000
Jl=3dl/20 =2 15,000 15,000 0
201 et=gl 10,000 11,000 A 1,000
01 AtR2teld] 10,000 11,000 A 1,000
O get+=Ed| 7,000,000& 7,000
O =gl 3,000,000& 3,000
202 O4Hl 5,000 4,000 1,000
01 =AY 5,000 4,000 1,000
O g4 odl 5,000, 000& 5,000
Jl23dl/AzZ etz 13,028 12,000 1,028
201 B2 8,028 8,000 28
01 AtR2t2iHl 8,028 8,000 28
O get+=&d| 4,500,000& 4,500
O =&l 7,000& ~6F 7L x 128 3,528
202 O4dl 5,000 4,000 1,000
01 WA 5,000 4,000 1,000
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50,000 x2& »402]

1,000
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12,560

13,200

A640

5,360

6,000

A 640

& =2l 3,360,000&

2,000,000 * 14

5,360
2,000
3,360

6,000

A 640

7,200

7,200

& 0dhl

,0008 = 3F » 102 « 128

7,200

7,200

7,200

4,830

4,830

3,150

3,150

2 ™ JECX

IH &4 JtEelX

EY 200,000& = 12l

25,000& * 102fA

500,000& = 2JH
350,000& = 200 = 2CH

100,000& = 33l

*

*

3,150
3,150
250

1,000

1,400
300
200

3,150

202 O

1,680

1,680

01 =LHoY

20,0008 » 18 = 7

* 128

e

1,680

1,680

1,680

1,920

4,264

A2,344

202 O

1,920

1,920

]
D« 43 « 128

1,920

1,920

1,920

6,200

10,000

A3,800

4,200

10,000

A5,800

g s
000 = 5% » 10€ » 128
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A5,800

202 O4Hl

2,000
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01 =LHAOYI

2,000

2,000
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